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More practice - Section 6.1

Use matrices (Gaussian Elimination) to solve each system of equations.

i X+y-z=6
a |12x- y+z=-9

1,' X-2y+3z=1

i-X+2y+6z=2
b. |l3x+2y+ 62=6

,x+4y 3z=1

1y=-2x-2z+1
C. |lx:-2y- z+2

1z=x-y

i X+y+z +w =0

J[x+y+22+2W:0
¢ ::: 2X+2y +3Z +4v =1
1 2x+3y +4z +5w =2

|2x 3y- z=13
i) |-x+2y 52=6
[5x- y- z=149

(Answers: a) (-1,23,16); b) gi—

T+ )82
g)pl¢-Ln;m(1-LLaJ)aaa-a)

i X- y+2z+ w=4
{y+z=3

: Z- W=2
fx-y=0

] 2x+y- z+3w=0

'i'SX- 2y+z- dw=-24
[

Xty -Z tw =2

fx- y+2z-5w=-16

I X+2y+z-3w=7
{y+z:O

' :x w=4

f-x+y=-3

| X+z2+2w=06

h) {y 2z=-3

: X+2y- z=-2
f2x+y+3z-2w=0

1o

;d)(1,1,2,0; ¢ (-4,3,-2,1);f) (2-11,- 2);
ﬂ



